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Periodic Trends

I. What is the trend for atomic radius as you move across a row in the periedic table? Explain why.
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2. What is the trend in atomic radius as you move down a column in the periodic table? Explain why.
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3. Put the following elements in order from smallest to largest atomic radius and explain why: C, O, Sn, Sr.
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4. Circle the atom in each pair that has the largest atomic radius.
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5. Explain how shielding contributes to the atomic radius trend within a group. _
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6. Define electronegativity.
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7. What is the trend for electronegativity as you go across a row left to right?
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8. What is the trend for electronegativity as you go down a column?
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9. Define ionization energy.
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10. Is it easier to form a positive jon with an element that has a high ionization energy or an element that has a low jonization
energy. Explain.
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I1. What is the trend for first ionization energy as you move across a row in the periodic table? Explain why.
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What is the trend in first ionization energy as you move down a column in the periodic table? Explain why.
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Put the following elements in order from lowest to highest first ionization energy and explain why: Al, Ar, ,Qg, Na.
Cs . Na, Al, Ar Tts the opposite of atomic redius.
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. Circle the atom in each pair that has the greater first ionization energy.
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Explain why the negative ions (anions) are larger than their neutral atoms.
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Explain why the positive ions {cations) are smaller than their neutral atoms.
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. Who is credited for organizing the periodic table by increasing atomic number, as we know it to be arranged today?
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. A column going down from top to bottom is called a ?}mu'i-ﬂj -Fn_w\t hff .
[

. A single row going across from left to right is called a e Q;—ic;cl

What element has the electron configuration 15225°2p°3s°3p™? P

. Identify the element described: contains a full third energy level F} 2

Contains 7 electrons in the 3d subshell Co
Has its outermost electron in 4s' ) K_ e

% ** Be sure to review your polyatomic ions and electron configurations as they are fair game as well.** %/
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